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z=x+jy=r/9
21 =x1+ jy1 =ri/g1
zo = T2+ Jy2 = r2/P2

8930900 z = 21 + 20 = x1 + 22 + (Y1 + Y2).
30003900 2 = 21 — 22 = T1 — T2 + (Y1 — Y2)-
300003mgdd z = 21 - 22 =711 r2/P1 + Pa.
3gMBO 2 = 21/22 = 11/T2/P1 — Po.

Bgb3ob 0dmgds z = (/z] = \/ﬁejm/?
obo®molbgoo z = 27 = r’femrn

3m03mgdba®mo Bggmegds z = 2 = x4 — jy = rie I
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I(t) = rcos(wt + ¢)— Is =1/9
RoBYOo gmddo — dgobogho gm®ddo
I, = r@ = rel?

Re{Is} = Re{r(cos(¢) + jsin(¢))} = rcos(¢)

Re{I,e?'} = Re{rel?ti“t} = rcos(wt + ¢)
I(t) = Re{lse/*t}
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I(t) = rcos(wt + ¢)— Is =1/9
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Re{ls} = Re{r(cos( = rcos(¢)dgpomdoo

Re{I,e?'} = Re{rel?ti“t} = rcos(wt + @)
I(t) = Re{l;e’'}
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2. 03mgbg RoYY®0 @IS

P = 2sin(10t + z — %)a’y — B, =7
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2. 03mgbg RoYY®0 @IS

P = 2sin(10t + z — %)a’y — B, =7

cos(0) = sm(g) =1
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2. 03mgbg RoYY®0 @IS

P = 2sin(10t + z — %)a’y — B, =7

cos(0) = sm(g) =1

P = 2cos(10t + x — % - g)&’y
—_———
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2. 03mgbg RoYY®0 @IS

P = 2sin(10t + z — %)a’y — B, =7

cos(0) = sm(g) =1

= s s

P = 2cos(10t + x — i 5)(1’3,
®

P, = er(x_%)&’y
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3.3030gbmm dgobogdo gm®dds

Qs = &7%(d, — d,)sin(ry) — Q(t) =7
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3.3030gbmm dgobogdo gm®dds

—

Qs = €%(d, — @.)sin(my) — Q(t) =7

ae’® — acos(wt + P)




® 0®0L Gobm®o 030BM®g0o0L 3odmygbgoo 3030momgdo
000 [e]e} ooe

3.3030gbmm dgobogdo gm®dds

—

Qs = €%(d, — @.)sin(my) — Q(t) =7

ae’® — acos(wt + P)

Q(t) = sin(ry)cos(wt + (@ — @)
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